W and y
0.5

1.0

= 0.014(19) y = 0.919(72) => 0.919(72)

m&12 med(mad) ACBF

III|II]I|IflI|IIII|IIII|IIII|IIII|IIII

_— ' ' ' ' ' ' ' " " —

1 W‘i M ud i Ji b J‘J |lJﬂH‘"]‘l WJM i ld“ ll hlﬂmu Uh) ]” Wﬂ Wf
“['1 m” iy ||| ||'l| In,fmln ",rffl11"|“']""" "'1" 'T""W ‘[ |" "']’I']nrl'p'f]'f‘l i *]“II*F

# Mﬂu\m.uh nm ||HI

w\'xW'Mr“ww*w b uallio W NW* mfwww i WM DN b, P
‘miW'M‘mm‘lmwupw yl ww i e W nwuwfwww (i M\v‘m'h Wnilmmmwmw Mnif w;

III|IIlI|I[II|IIII|IIII|IIII|IIIIIIII

U

5000 4000 o000 6000

N (R) z = 0.70283

<—6.00



